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QUESTION 1

What does a developer need to know in order to expose Cognos Analytics Dashboards for mobile consumption? 

A. Objects have to be sized appropriately. 

B. Only Active Reports can be viewed on a mobile device. 

C. The interface is not consistent between the desktop and mobile. 

D. The Cognos Mobile App is the only method for accessing a Dashboard. 

Correct Answer: A 

 

QUESTION 2

A report author would like to reuse a logo across all existing reports. Which object should be used? 

A. Template 

B. Bookmark 

C. Global Class 

D. Layout Component Reference 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEP7J_11.0.0/
com.ibm.swg.ba.cognos.ug_cr_rptstd.doc/ t_cr_rptstd_frmat_rep_reuse_object.html#cr_rptstd_frmat_rep_reuse_object 

 

QUESTION 3

A report contains multiple queries that are joined to form the report, resulting in poor performance. The company\\'s
policy prohibits the use of user-defined SQL statements within reports. 

What should be done to improve report performance? 

A. Convert the report to use Native SQL statements. 

B. Move the appropriate filters to the underling queries. 

C. Change the Cross Product allowed property to be "Deny". 

D. Modify the Query Execution method to Concurrent to ensure that the underlying queries run at the same time. 

Correct Answer: D 

 

QUESTION 4
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A report author created the following list report and wants to filter all order methods which generated total revenue less
than one billion. 

Which filter should be used? 

A. A detail filter as [Revenue] >= 100000000 with application set to before auto aggregation. 

B. A detail filter as [Revenue] >= 100000000 with application set to after auto aggregation. 

C. A detail filter for Total([Revenue]) >= 100000000 with application set to before auto aggregation. 

D. A detail filter for Total([Revenue]) >= 100000000 with application set to after auto aggregation. 

Correct Answer: D 

 

QUESTION 5

A report author wants to ensure a complete mobile experience on an iPad tablet by enabling swipe gesturing between
pages of a Data deck. 

What must be done to achieve this? 

A. Connect an Iterator to a Deck with a variable. Set the slide animation direction of the Deck to a direction. Change the
property of the Iterator label Area to Page Dots. 

B. Connect a Button bar to a Deck with a variable. Set the slide animation direction of the Deck to a direction. Change
the property of the Iterator label Area to Page Dots. 

C. Connect an Iterator to a Deck with a variable. Set the slide animation direction of the Deck to a direction. Change the
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property of the Iterator label Area to Iterator Number. 

D. Connect a Button bar a Deck with a variable. Set the slide animation direction of the Deck to a direction. Change the
property of the Iterator label Area to iterator Number. 

Correct Answer: C 

Reference: https://www.ibm.com/blogs/ba-support-link/wp-content/uploads/2016/05/october-2013-ipad.pdf (page 6) 
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